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Indicate the answer choice that best completes the statement or answers the question.

1. Lashon is using a model to find 156 + 2.
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Which division sentence represents the model?

a.156+2=178
b.156 + 2=74
c.156+ 2=70R8
d. 156 - 2 =68

2. There are 26 people at a picnic. Ethan wants everyone to have about 3 cookies each. About how many cookies
does he need to buy? Is an estimate or exact answer needed?

a. estimate; 3 x 30 = 90 cookies
b. exact; 3 x 26 = 78 cookies
c. estimate; 3 = 20 = 60 cookies
d. exact; 3 = 26 = 68 cookies
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3. Ethan stores 8 comic books in one plastic bag. He has 533 comic books. How many bags does he need?

a. 64 bags b. 66 bags
c. 67 bags d. 70 bags

4. Zoey bought 2 times as many bracelets as Hada. Zoey bought 6 bracelets. How many bracelets did Zoey and
Hada buy in all?

a. 9 bracelets b. 12 bracelets
c. 18 bracelets  d. 72 bracelets

5. A store sold 5 cameras for $1,432. If each camera costs the same amount, about how much did each camera
cost?

a. about $200  b. about $300
c. about $400  d. about $500

6. Mrs. Ruiz bought 47 kits for making model ships. Each kit contains 32 parts. How many parts are there in all?

a. 1,504 parts  b. 1,494 parts
c. 1,304 parts  d. 1,294 parts
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7. A landscaper bought 8 boxes each of two types of grass seed. One box is 62 ounces. The other box is 70 ounces.
The landscaper mixed the seeds and then patched 6 lawns. How many ounces of seed did the landscaper use per
lawn, on average?

a. 93 ounces b. 132 ounces
c. 168 ounces d. 176 ounces
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